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Bioquímica Metabólica – 2017 
Prof. Roberto K. Salinas 
 
Exercícios sobre cinética enzimática 
 
1. Uma enzima que catalisa a reação de conversão entre duas moléculas “X” e “Y” é 
isolada de duas espécies de bactérias. As enzimas possuem o mesmo Vmax, mas 
possuem valores de KM diferentes. A enzima A possui KM = 2.0 µM, enquanto que a 
enzima B possui KM = 0.5 µM. O gráfico abaixo mostra a cinética de duas reações 
efetuadas com a mesma concentração de enzima e [X] = 1 µM. Qual curva 
corresponde a qual enzima? 
 

 
 
2. O exame da estrutura de uma enzima permite formular hipóteses sobre a 
contribuição de cada aminoácidos para a estrutura e para a atividade da enzima. Uma 
forma de testar essas hipóteses é usar técnicas de DNA recombinante para gerar 
mutantes, e examinar os efeitos das mutações sobre a estrutura e atividade da enzima. 
A lactato desidrogenase (LDH) é uma enzima que catalisa a redução de piruvato com 
NADH para formar lactato. Um esquema do sítio ativo da enzima, contendo piruvato 
e NADH ligados, está mostrado abaixo: 

 
O mecanismo da reação é similar ao mecanismo de outras reduções por NADH. O 
estado de transição envolve o grupo carbonil do piruvato fortemente polarizado: 
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(c) An enzyme that catalyzes the reaction X zy Y is isolated from two bacterial species. The enzymes
have the same Vmax, but different Km values for the substrate X. Enzyme A has a Km of 2.0 !M,
while enzyme B has a Km of 0.5 !M. The plot below shows the kinetics of reactions carried out
with the same concentration of each enzyme and with [X] ! 1 !M. Which curve corresponds to
which enzyme?

Answer
(a) Here we want to find the value of [S] when V0 ! 0.25 Vmax. The Michaelis-Menten

equation is

V0 ! Vmax[S]/(Km " [S])

so V0 ! Vmax when [S]/(Km " [S]) ! 0.25; or

[S] ! 0.33Km ! 0.33(0.0050 M) ! 1.7 # 10$3 M

(b) The Michaelis-Menten equation can be rearranged to

V0/Vmax ! [S]/(Km " [S])

Substituting [S] ! %12% Km into the equation gives

V0/Vmax ! 0.5 Km/1.5Km ! 0.33

Similarly, substituting [S] ! 2Km gives

V0/Vmax ! 0.67

And substituting [S] ! 10Km gives

V0/Vmax ! 0.91

(c) The upper curve corresponds to enzyme B ([X] is greater than the Km for this enzyme),
and the lower curve corresponds to enzyme A. When the initial concentration of sub-
strate is greater than Km, the rate of the reaction is less sensitive to the depletion of 
substrate at early stages of the reaction and the rate remains approximately linear for a
longer time.

9. Applying the Michaelis-Menten Equation I A research group discovers a new version of happyase,
which they call happyase*, that catalyzes the chemical reaction

HAPPY 88zy88 SAD

The researchers begin to characterize the enzyme.
(a) In the first experiment, with [Et] at 4 nM, they find that the Vmax is 1.6 !M s$1. Based on this ex-

periment, what is the kcat for happyase*? (Include appropriate units.)

Time

[Y
]
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(b) Using the Living Graph for Equation 6–30 and the kinetic parameters in (a), create a plot in
which both a and a! are 1.0. Now observe how the plot changes when a " 2.0; when a! " 3.0;
and when a " 2.0 and a! " 3.0.

(c) Using the Living Graphs for Equation 6–30 and the Lineweaver-Burk equation in Box 6–1, create
Lineweaver-Burk (double-reciprocal) plots for all the cases in (a) and (b). When a " 2.0, does
the x intercept move to the right or to the left? If a " 2.0 and a! " 3.0, does the x intercept
move to the right or to the left?

Answer
(a) When [S] increases from 0.2 to 0.4 mM, V0 increases by a factor of 1.96. When [S] " 10

mM, V0 " 50 mM s#1. When [S] increases from 100 to 200 mM, V0 increases by a factor of
1.048.

(b) When a " 2.0, the curve is shifted to the right as the Km is increased by a factor of 2.
When a! " 3.0, the asymptote of the curve (the Vmax) declines by a factor of 3. When
a " 2.0 and a! " 3.0, the curve briefly rises above the curve where both a and a! " 1.0,
due to a decline in Km. However, the asymptote is lower because Vmax declines by a
factor of 3.

(c) When a " 2.0, the x intercept moves to the right. When a " 2.0 and a! " 3.0, the x
intercept moves to the left.

Data Analysis Problem
23. Exploring and Engineering Lactate Dehydrogenase Examining the structure of an enzyme re-

sults in hypotheses about the relationship between different amino acids in the protein’s structure and
the protein’s function. One way to test these hypotheses is to use recombinant DNA technology to
generate mutant versions of the enzyme and then examine the structure and function of these altered
forms. The technology used to do this is described in Chapter 9.

One example of this kind of analysis is the work of Clarke and colleagues on the enzyme lactate
dehydrogenase, published in 1989. Lactate dehydrogenase (LDH) catalyzes the reduction of pyruvate
with NADH to form lactate (see Section 14.3). A schematic of the enzyme’s active site is shown below;
the pyruvate is in the center:
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Pergunta-se: 
 
i) Um mutante da LDH no qual a Arg109 foi substituída por Gln mostra apenas 5 % 
de ligação a piruvato e 0.07 % da atividade da enzima selvagem. Proponha uma 
explicação para os efeitos desta mutação 
ii) Você espera que a substituição da Arg171 por uma lisina afete a afinidade da 
enzima pelo piruvato? Por quê? 
 
3. Uma enzima recém descoberta catalisa a reação descrita abaixo.  
 

 
 
O valor do turnover encontrado para esta enzima é 600 s-1. Quando [E]T = 20×10-9 M 
e [T] = 40 µM, a velocidade da reação é v0 = 9.6 µMs-1. Calcule o KM para o 
substrato. 
 
4. A hidrólise de pirofosfato a ortofosfato é uma reação acoplada importante para 
deslocar o equilíbrio de reações biossintéticas, por exemplo a síntese de DNA. Esta 
reação de hidrólise é catalisada por uma pirofosfatase que possui massa de 120 kDa e 
consiste de seis subunidades idênticas. Para esta enzima, a unidade de atividade 
enzimática é definida como a quantidade de enzima necessária para hidrolisar 10 
µmol de pirofosfato em 15 minutos a 37 0C. A enzima purificada possui Vmax = 2800 
unidades por miligrama de enzima. 
 
a) Quantos mols de substrato são hidrolisados por segundo por miligrama de enzima 
quando a concentração do substrato for muito maior do que o Km? 
 
b) Quantos mols de sítios ativos existem em 1 mg de enzima? Assuma que cada 
subunidade possui um sítio ativo. 
 
c) Qual é o turnover da enzima? 
 
5. Suponha que uma enzima mutante ligue-se com o substrato com uma afinidade 
100x maior do que a enzima selvagem. Qual é o efeito desta mutação sobre o 
turnover (kcat) considerando-se que a interação com o estado de transição não foi 
afetada? 
 
6. Para uma enzima que segue a equação de Michaelis-Menten, qual é o valor de Vmax 
considerando-se que v0=1µM/min a 1/10 KM? 
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The reaction mechanism is similar to many NADH reductions (Fig. 13–24); it is approximately the
reverse of steps 2 and 3 of Figure 14–7. The transition state involves a strongly polarized carbonyl
group of the pyruvate molecule as shown below:

(a) A mutant form of LDH in which Arg109 is replaced with Gln shows only 5% of the pyruvate bind-
ing and 0.07% of the activity of wild-type enzyme. Provide a plausible explanation for the effects
of this mutation.

(b) A mutant form of LDH in which Arg171 is replaced with Lys shows only 0.05% of the wild-type
level of substrate binding. Why is this dramatic effect surprising?

(c) In the crystal structure of LDH, the guanidinium group of Arg171 and the carboxyl group of pyru-
vate are aligned as shown in a co-planar “forked” configuration. Based on this, provide a plausible
explanation for the dramatic effect of substituting Arg171 with Lys.

(d) A mutant form of LDH in which Ile250 is replaced with Gln shows reduced binding of NADH. Pro-
vide a plausible explanation for this result.

Clarke and colleagues also set out to engineer a mutant version of LDH that would bind and re-
duce oxaloacetate rather than pyruvate. They made a single substitution, replacing Gln102 with Arg;
the resulting enzyme would reduce oxaloacetate to malate and would no longer reduce pyruvate to
lactate. They had therefore converted LDH to malate dehydrogenase.

(e) Sketch the active site of this mutant LDH with oxaloacetate bound.
(f) Provide a plausible explanation for why this mutant enzyme now “prefers” oxaloacetate instead

of pyruvate.
(g) The authors were surprised that substituting a larger amino acid in the active site allowed a

larger substrate to bind. Provide a plausible explanation for this result.

Answer
(a) In the wild-type enzyme, the substrate is held in place by a hydrogen bond and an ion-

dipole interaction between the charged side chain of Arg109 and the polar carbonyl of
pyruvate. During catalysis, the charged Arg109 side chain also stabilizes the polarized
carbonyl transition state. In the mutant, the binding is reduced to just a hydrogen bond,
substrate binding is weaker, and ionic stabilization of the transition state is lost, reducing
catalytic activity. 

(b) Because Lys and Arg are roughly the same size and have a similar positive charge, they
probably have very similar properties. Furthermore, because pyruvate binds to Arg171 by
(presumably) an ionic interaction, an Arg to Lys mutation would probably have little
effect on substrate binding. 

(c) The “forked” arrangement aligns two positively charged groups of Arg residues with the
negatively charged oxygens of pyruvate and facilitates two combined hydrogen-bond and
ion-dipole interactions. When Lys is present, only one such combined hydrogen-bond
and ion-dipole interaction is possible, thus reducing the strength of the interaction. The
positioning of the substrate is less precise. 

(d) Ile250 interacts hydrophobically with the ring of NADH. This type of interaction is not
possible with the hydrophilic side chain of Gln. 
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7. A penicilina é hidrolisada por uma enzima beta-lactamase que está presente em 
algumas cepas de bactérias resistentes a antibióticos. A massa desta enzima é 29.6 
kDa. A quantidade de enzima hidrolisada em 1 minuto em uma solução de 10 ml 
contendo 10-9 gramas de beta-lactamase purificada foi medida em função da 
concentração de penicilina (tabela abaixo). Assuma que a concentração de penicilina 
não se altera apreciavelmente durante o ensaio. 
 

[Penicilina] µM Quantidade hidrolisada 
(nanomols) 

1 0.11 
3 0.25 
5 0.34 

10 0.45 
30 0.58 
50 0.61 

 
a) Faça um gráfico de V0 em função de [S] e de 1/V0 em função de 1/[S]. Responda: a 
beta-lactamase parece seguir a cinética de Michaelis-Menten? Neste caso, qual é o 
valor do KM? 	
  
	
  
b) Qual é o valor do Vmax? 
 
c) Qual é o turnover da enzima nestas condições experimentais? Assuma a presença 
de um sítio ativo por molécula de enzima. 
 
8. A cinética de uma enzima foi medida em função da concentração de substrato 
na presença e ausência de 2 mM do inibidor “I”.  
 

[S] (µM) Velocidade (µmol/minuto) 
 Sem inibidor Com inibidor 

3 10.4 4.1 
5 14.5 6.4 

10 22.5 11.3 
30 33.8 22.6 
90 40.5 33.8 

 
a) Quais são os valores de Vmax e KM na ausência e presença de inibidor? São 

dadas as seguintes quações de reta: 
b) Qual é o tipo de inibição? 
c) Qual é a constante de afinidade do inibidor? 
d) Se [S] = 10 µM e [I] = 2 mM, qual é a fração de moléculas de enzima 

ligadas ao substrato? E com o inibidor?  
e) Se [S] = 30 µM, qual é a fração de moléculas de enzima que estão ligadas 

com o substrato na presença e na ausência de 2 mM de inibidor? 
Compare esta razão com a razão entre as velocidades nas mesmas 
condições. 

 
	
  


